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” Any sufficiently advanced technology is indistinguishable from

magic.
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Mandelbrot (O OO O OOO0OO0OODO Mandelbrot set
o)
ooooooboooonD x,yyoooono
z <-—— x + 1 y; count <-- M;
while ( |z| <= 4) and ( count>0) do begin
z <—— 22 - (x + i Y); count <-- count -1
end;
O x,y) O count 00000 (count=0000)0000O;
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> mandel:=proc(x,y)

local z0,z,count;

z0:=x+y*I;

z:=0;

count :=20;

while (evalf(abs(z))<4.0 and count>0) do
z:=z"2-20;

count:=count-1;

od;

count;

end:
> with(plots):

densityplot(mandel,-1..2.5,-1.5..1.5,axes=none,colorstyle=HUE,
style=patchnogrid,grid=[50,50]);
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1.1 ODOoOgd

OO000 Maple 0ODOOO0ODOOOODOOOOODOO

1.1.1 Maple 0O OO

PCOO0D000O0OOOOOON00000000000000unix 00
xmaple 0000 GUIOO maple DO 000000 Omaple 0000000
0 vt100 000 text 0000000000000 unix O redirection O O
0000 fitee 000000000000000 (00:B.100)000000
0000 PATH O executability 000000000

1.1.2 0OO0O0O0O0

goboooooooooooooboooon
> 1+1;
2
enter 0 shift+enter 0000000000 O0Oenter d OO O shift+enter

000000000000 0000000000 shift+enter 100000
Olenter 000000 0OO0OO0DOOOOODOOOOOOOOOOOO
> setl:={1,2,3}; (shift+enter)
> set2:={3,4}; (enter)
setl :={1, 2, 3}
set2 := {4, 3}
000000000000 (enter) O (shift+enter) 0000000000
0000000 ooooboooobobooooooobooooooooon
00000 oo oooooooooooa
godoooootbdoobooouoobuooobooooooooa
gobodooboooououooboouooooboobouooooa
godoobdododdoodddodUUU0UoooooUoOoouo o
goooooo

> plot({erf(x),diff(erf(x),x)},x=-5..5);
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0000000000000 0%f00000 (diff)y0-500 500000

o”ogo

1.1.3 0OO0O0O00

gbbooboooboooboobobooooooboooboaoo
gbogbbobobidl enterD00bobooobobobooboboon
gboboobooooboboboboooobobobobobobao

godbooobooobodndobnmobOo0obOooooboon
> plot({sin(x)},x=-pi..pi);

Error, (in plot/transform) cannot evaluate boolean: -pi < -4
000000000000 00 MapleODODOODOOOOOOODOOO
000DO000000DOO0000D0pi—Pi000OO0OD0OOOODOO0O

goo

> plot({sin(x)},x=-Pi..Pi);
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1.14 0OO0OO0OOO

enter 00000000000 0DODOODOO0OOOODOOODODOODOO
000000PCOO tool bar O stop DO OO OOODO unix OO interrupt
button OO0 O0OOO

1.1.5 0OO0O0Oogod

> 7help;
0000000000000 0000D00000D000000index OO
gombdooobobobooooobboooooboboboooooobo
0000000000000 000000 helpOOOOOoOoOOoOOoOoOonO
OO0 Help"OODOOOOO0DODOOODOOD helpOOOOOO
000 Windows DO DO0O00O0000O0ODOOOOO0ODOO Examples
goooobooooooooobobon

> 7plot;
plot - create a two-dimensional plot of functions [0
googo
Calling Sequence:0J 00000

plot(f, h, v)

plot(f, h, v,...)
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Parameters: 000000
f - function(s) to be plotted
h - horizontal range

v - vertical range (optional)
Description:0 000000

e A typical call to the plot function is plot(f(x),x=a..b), where f is a
real function in x and a..b specifies the horizontal real range on whi
ch f is plotted.

oo

Examples:[] 00 0 O O
> plot(cos(x) + sin(x), x=0..Pi);
> plot(tan(x), x=-Pi..Pi);
> plot([sin(t), cos(t), t=-Pi..Pil);
> plot(sin(t),t);

Since no domain is specified in the last example, we use t=-10..10.
od

See Also: JOQOQOOOOO

plot[spec] where spec is one of infinity, polar, parametric, multiple,
ranges, function, options, structure, setup, device, replot, style,
color. Use plot3d for plotting surfaces. See discont and fdiscont

regarding discontinuities.
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1.2 ODO00O0ooooboogd

000000000000000000000000000000000
000D0000000000000000000000000000000
000000000000 OMaple 000000000000000000
OO0Maple 00000000000000000000O000O000OO0
000000 RY0000000000000000OMaple000000
nfufsfalalufs

1.2.1 0OO00OO0O0O0O0obOObOoOOoOoon

Maple OO ODOODOOO
> mass:=10;
mass := 10
000000000000000 MapleDOOOOOOOOOOOOOO
Pi, I, infinity 00000 (?ininames 00 ) 0000000000 OOO
> force:=—-mass*accel;
force := —10 accel
oooooooooooo%Ooooooon
>  expl:=i;
expl := —10 accel
gooooOOooOooooboobogooobo
> restart;
ooooooobbooboOOoobo0oooooboooooooobobooo
goobooo0ooooOoobooOoooooOoobooooOoooog
goooogoo
> mass:=’mass’;
mass := mass
ooooooooboobooogoo
> force:=-mass*accel;
force := —mass accel
O0o000O0OO0obDOoO0boODbDsubsOOOODOO
> subs(mass=10,accel=14,force);
—140
gooood
> force;

—mass accel
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gbobooobooobooobooobooooooobooooboooooDo
gbobooooboooobooobbooobooobooobooboooon

ggoo
> x:=2;y:=3;
T =
y:=3
> fi="x+y’; gi=x+ty;
f=xz+y
g:=>5

goobooboooobboobooOdObDrestart 1O OOOO0OO0OOO0ODOO
O000000o0O00dO0b0free0DOO000O0O0OO0ODOOOOODOOOO
ggbogoobogoood

1.2.2 00

000000000000 0000000000O0 (trigonometric func-
tions) 000000000000 OOlg0000O0 mO0O0O0OOOO
gogboogoaoboaboo

> logl2]1(5);

In(5)
In(2)
oo0o0ooooO0o0oooooo0ooo0ooooon

> evalf(%); (evaluating float O 0O)

2.321928094

Maple 0000000000 OOOOOOOOOOOOOOOOOOO
help 0000000D0O0O00O0O00O indexO0O000O0O keywords 0000
ggobood

? inifens - 00 O0O0O00OCOOOOCCOCOOO

? index[package] - 00 00000000000000000000O0
(DETools), 0 000 (linalg), 000000000 (plots) 0000000

? index[function] - Maple 00 00 00O
ggobdooboooboobboooboobboobooboooboon
ggboobobboobboobbooobooboooooboo

> with( package) ;

gboboooogoboo
gbooooboobooooboooobobood
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i) oooooooo
ii) unapply 00O OO0

gdobobooouoooouoboooa
> restart:

eql:=x->exp(-x)*cos(10*x) ;
eql :=x — e(=*) cos(10 z)
unapply 00000000000 OOOOOODOOODOOOOOO0OOO
0000 eqlO00D0OO0O00DODOO0OODOOODODOOO0DO-000000 f1
00ooooooooooooo

> restart:
eql:=exp(-x)*cos(10*x) ;
f1:=unapply(eql,x);

eql == e=®) cos(10 z)
fl =z — (=% cos(10 z)
gbooobooboooboobuooboooo
> fl:=x->eql;
f1:=xz — eql
> f1(1);
e(=%) cos(10 z)
ggodobobbbbooooooboo

0D00000000000000000000/L5000000 procO O
oooo

1.2.3 0000

OO00000 MapleODDOOOOOODOOODOODOOOOOOO
oo0oooo0oooo0ooooDOoOO0oooboOoooooOono pletdn
gooooo

> plot(eql(x),x=0..10);
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0.8-
0.6
0.4+
0.2-

0.2+
0.4 -

0.6 -

ggboodgboooboobuoooobbooboobbooan

> plot([sin(t),cos(t),t=-Pi..Pil);

_ 71i -
0.5
r/ \\
i 0.5 0.5 i
\ //
\ —0.57
~__ 1 -
S

gboooooogobbobobobdoboboboboobobobo
00000000000 (:1)00oo00ooooooo2000000

Oplotdd 00000000000 DOOODOOODOODODOODOO
> f1:=(x,y)->sin(x) *cos(y) ;
> plot3d(f1,-Pi..Pi,-Pi..Pi);

f1 := (z, y) — sin(z) cos(y)



1.2000000000000

000000000 plotting0 O0000O0Oplot00O0O000O0D0O0C
ooo00o0ooUoOoOoooUOooOooUOO)oL00ooooUoooOoooo
ooo

> with(plots):
0000000 plots package 000000000000 O0O0O0O0OOOO
0ooo0o0oO0ooo0o0ooo000oo0o0oooo0oo0o0ooo0o
ooOOCO helpOOOOOOCOO

1.24 00000

solve DO OOOOODOODOO
> egset:={x+y=1,y=1+x"2};
eqset == {x+y=1,y=1+2%}
> solve(egset,{x,y});
{r=0,y=1}{z=-1,y=2}
gooooo
> X3y
x

Y
bbbt xyobOOoOoooobooooooboooo

> solset:=solve(egset,{x,y});
solset :={x=0,y=1}, {r =-1,y =2}

> solset[1];
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{fe=0y=1}
> assign(solset[1]);
> XY
0
1
0000 assign 000000 00000000000 isolve0000000
0000000 R}0000000000000000000000000
000 (fsolve) 000000000000 000000 RAD0D000O0

1.2.5 0000

goboooooooboooooooboboobooooboooboboooooooo
gboboooboboooooboooobooooboobooooobooon

[:_2-._-2]DDDDDDD"MapleVDDDDDDDD"D2.6DDDDD oono
ooooooooooooog
e expand - Expand an Expression 0 0 0O 0O

o simplify - Apply Simplification Rules to an Expression 000 00O
goooooobooooooooD O Omm

e collect - Collect Coefficients of Like Powers 0 OO0 OO0 O0O0O0O0OOOO

e combine - combine terms into a single term 00000000000
ooooo

o coeff - extract a coeflicient of a polynomial 0000000000000

e sort - sort a list of values or a polynomial 000000000

e factor - Factor a Multivariate Polynomial 00000000 O0O0DO0O
oooooooo

e normal - normalize a rational expression 000000

e convert - convert an expression to a different form OO0 0000 00O
oood

e gcd - greatest common divisor of polynomials 000000000000

e lcm - least common multiple of polynomials 00000000000



1.2000000000000

19

e numer - numerator of an expression 0 000
e denom - denominator of an expression 0 0 00

e radsimp - simplification of an expression containing radicals 0 0 0O O
ooo)

e assume - The Assume Facility 0000000000 O0O0O
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1.3 DUOOogoon

gboooooobobooooboboobooboboooooobon
ggbogobooboobooboobbobbooboobooboaboo
ggbogoboobooboobooboooboboobooboaboo
gboooooooocoogooo

1.3.1 0OO0OO0O00

ooo
> sum(i,i=1..10);
55
0000000000000 00D0D0D0DoDoooooooooon

> sum(i~2,i=1..n);

1 1 1 1
Z 13 — = 1)2 4+ = Z
3(n+) 2(n+)+6n+6

> assume(abs(a)<1);

\

sum(a”i,i=1..infinity);
> a:=’a’:
0
a1
al0000000000 (assume) 000000000000 0OOOOOO
000 aldefault 000000 OOversion 6 0000000000000

assume OO O0OO0O0O00O0OO000OO0O0OOO00O0O0OO0OO0OO0O0O0OO0OO0O0

1.3.2 00O

00000 lmit000000O0O0O00O000
> restart;

> limit(sin(x)/x,x=0);

> limit(1/x,x=0,complex) ;
oo —ool
oooooooooooooooooo
> sum(1°i/i!,i=0..infinity);
e
000oooooooooooooooooo
> r:=(x"2-1)/((x+1)*(x"2+2));
2?2 —1
(x+1) (22 +2)

7=
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> subs(x=-1,r);
Error, division by zero
gboooboobooooobooooboon

> limit(r,x=-1);
-2

gooooooootoooboooouoooooobooon
> limit(tan(x),x=Pi/2);
undefined

dooooooooooooooo
> limit(tan(x),x=Pi/2,right);
> limit(tan(x),x=Pi/2,left);

—00
o0
goooooooooooo
1.3.3 00O
o0 dif00o0oooood
> diff(x"2,x);
2x
> diff(y"2*x"2,x,x%);
2y2

0000000000000 o0o0ooooDoooooon
> c:=(x,t) >X)*T(t);

c:=(z,t) — X(z) T(t)
> diff(c(x,t),t);

> diff(c(x,t),x,x);
X(z) (F T(1))

(2 X(2)) (1)

1.34 00000

O0O000O dsolveDOODOOOOODODOODOO
> eq:=diff (y(x),x)+y(x)=0;
eq = (75 y(@)) +y(z) =0
> dsolve(eq,y(x));
y(x) = _C1 el
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gdodooodobobuoooobouoouoouooog
> dsolve({eq,y(0)=a},y(x));
(z) = ael=
000000000000 0O0ODO0O0O0O0O0O00O0O0O0O0 (option=series)O

000 (option=numeric) 100 00000000000000000000
000000 R4 0000000

1.3.5 00O

ooooooooooooooooo
> int(1n(x),x);
zln(z) —
> int(sin(x),x=-Pi..0);
-2
O000000O0OintO integrate 10000000 0O0O0OOO0OOODOO

0ooooOoooooooooo
> eq:=x"2/sqrt(1-x"2);
> int(eq,x);

1‘2

= V1— a2
—% z\V/1— 22 + % arcsin(x)
> eq2:=exp(-x"2);
> int(eq2,x=-z..2);
eq? = e(=2"
Vmerf(z)

ggbooboboobbooboobooobbooboobooboaboo
oo0o0DIntO0DO0ODO

1.3.6 U0

Maple OO0 Tayler DO OO0 O0O0ODO0OOCOOOOODOOOOOO
000000000000 b000000o0o0ooDoOooDooonoooa
> series(f(x),x=0,4);
1 1
f(0)+D(f)(0)$+§(D(2))(f)(0)332+6(D(B))(f)(0)$3+0($4)
0000000000000 convert D00 DOOO

> convert (%,polynom) ;

£(0) + D(£)(O) 2 + 5 (DD)()(0) 2 + 5 (DH)(/)(0)
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OO00OwapplyOOO0O00OOOOO0OO0OODOOOOOODOOOODOOOOO

gbooooogo [2.:3]DDDDDDDDDDDDM&pIeDDDDDDDD
gboboob0dbDasympt DO00O0O0O0O0ODOOOOO

1.3.7 0000

gbobogbooobbooboobooboobooboo

> series(exp(x),x=0.5%I1,3);

8775825619 + .4794255386 I + (.8775825619 + .4794255386 I) (x — .51)+
(04387912810 + .2397127693 I) (x — .5 1) + O((xz — .51)3)

> int(exp(x/2),x=1+1%I..0+1%I);
> evalc(h);

_9e(1/241/21) | 9,(1/21)

—26(1/2)(308(%)+2COS(%)+I(—2€(1/2)Sin(%)+2Sin(%))
evalc 0000000000 ODOOOODOOODOOOOOOODOOODOOO
O00000O00000000 Re()DOOOOOO Im()DOOODOOO
00000 conjugate) 000000000000 O0OOOOOOOOO
gooobooobooon

> with(plots):

> complexplot3d( sec(z) , z = -2 - 2+%I .. 2 + 2*I );

Warning, the name changecoords has been redefined

(S
===

il
Bl
0l

(‘V.Y
00
)

I

complexplot (sin(x+I) ,x=-Pi..Pi);
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14 0O0O0OOOOOQOOO

Maple 0O00O0OOO00DOOOOOOOOOOODOOOODODDOOOOO
gbbgoboaboobbooobooboobbobobooaobooon
gbuobooogbobobobobbooboboboboboboobdaa

1.4.1 0OD0O0O0OO0OOOOOOO
00 set {a,b,c}

gbobogbobooboboobbobbobboobboooboobooobon
gbbogboboobobooboobooboada

e FUNCTION:union - set union operator 0 0 0
e FUNCTION:intersect - set intersection operator 0 00 O

e FUNCTION:minus - set difference operator O O O
> setl:={1,2,3};
set2:={3,4};
setl :={1, 2, 3}
set2 := {3, 4}
> set3:=setl union set2;
setd :={1, 2, 3, 4}

> setd:=setl intersect set2;
setb:=setl minus set2;

setf := {3}

setd = {1, 2}
ggoooboobboodoooooobobobboodoooobbobooboobo
googooooooood

000 list [ a,b,c]

dododbdododoouoooboboooobooooooooooo
gobodooooobooooouooboouoonoo
> list1:=[1,2,3];
> 1ist2:=[3,4];
list1 :=11, 2, 3]
list2 := [3, 4]
000000000000 op(list)yD00O0DOOOOODOO listOOOO
oo oooboobouoooooooa
gdoboooooooboooo
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> 1list3:=[op(listl),op(list2)];
list3 =11, 2, 3, 3, 4]
0000000000000 000O000O00000O000000 (append,
prepend) 000 0000000000000 0OOOOOOOOOOOO
go0odooooobD nops OO QOO
> n:=nops(list3);
n:=>5
000000 listfindex) 00000000
> 1list3[5];
4
index 0000000000000 O00O0O00OO00O00OOOO print(list)
00000000seq00000000D0000OOO0OOOOOO0OO
goooooood
> listd:=[seq(list3[n-i+1],i=1..n)];
list} == 1[4, 3, 3, 2, 1]
0000oooOoooolst30oo0ooooogooooooogon
gbodooooobooooooobuoooooo
> list3:=list4;
list3 :=[4, 3, 3, 2, 1]
ooooooooooooo
>  1list3[2]:=x;

list39 == x
Oo00o0oooooooooon
>  1list3;
[4, z, 3, 2, 1]
0 table

Maple 0000000000000 0O0O0O0DODODOODOOOOON in-
dex(subscript) 1000000000000 OOO0OOOOOOOOOO
Otable00D0O0O0O0OO0OOOOODOO

> atomicweight:=table([Fe=56,C=12]);
atomicweight := table([C' = 12, Fe = 56])

> atomicweight [Fel;
56
goooo
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> atomicweight[Fe] :=55.847;
atomicweight , = 55.847
O00oooooooon
> atomicweight [Al] :=27;
atomicweight 4, = 27

goobDOoobDOdU print00O00ODOOO

> print(atomicweight);

table([Al = 27, C = 12, Fe = 55.847])

ggd

> atomicweight[C]:=’atomicweight[C]’;

atomicweighty 1= atomicweight
> print(atomicweight);
table([Al = 27, Fe = 55.847))

O0o o000 "00000c00o0o00oooooo»oooo0o0ooo
oooor»7oo00ooon

0d array

00000 subscript000)0000000000OOOOODOOO0O
OO0000o0oO000OoOoODO0O0O0D tableDO0O0O0ODOOOODO array
O00D00D0O0OOOsubscript 000 O0O0O0O0DOO0ODOOOOOO
000 array(l.n) 0000 array(l.m,l.n) 0000000000 OO

Joo0o0ooOoOoODOo00o0o00oo0ooooOobOO0ooooooooon
> array(identity,1..3,1..3);
> array(sparse,1..3,1..3);

o
—_

0 0 O
0 0 O
L0 0 0]
> array(1..2,1..2,[[1,2],[3,411);

1 2
3 4
> A:=array(antisymmetric,1..3,1..3);

> A[1,2]:=1;A[1,3]:=2;A[2,3]:=3;
> print(A);

A := array(antisymmetric, 1..3, 1..3, [])
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Al,g =1
A1,3 =2

ggbogobobooaoboabood

type 00000000000 OO0O0O0O0O0O00O0COOOOOOOGOOOO
000o00000b000000000000000000000000
oooooooooon
> type(A,array);

true

00000000000 00000D00 trueD false DOO

convert 0000000000000 0O00D0O0O00O0ODODOODOODOOO0OO
000000000000 ooooo (istlist)000O0O0O0O0O0O0O
> convert(A,listlist);

([0, 1, 2, [=1, 0, 3], [-2, —3, 0]]

map 00000000 0O0O0ODOODOOOO
> map(sin,A);
0 sin(1)  sin(2)
—sin(1) 0 sin(3)
—sin(2) —sin(3) 0
O000map DOOOOOOOOOOODDOD mapOOddodggng
00000000000 Lstlist 0O00O00DOO0ODOOd
> map(u->[ul1],ul3]],convert(A,listlist));
([0, 2], [-1, 3], [-2, O]]

1.4.2 0000

Maple 0000000000 0OODO (linear algebra) 0000000000
O000O0O0OD0O00O0 MapleDOOOOOOOOOODDOO linalg package
000000000000 00 60000 LinearAlgebra(LA) DO OOOO
gboooooobobooooboboooobooooobooboooon
0000000000 O000O0O00O0OD lnalg00OOO0OODODOOOO
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O LinearAlgebra 0000000000 00linalg0 0000000004 %
ooooooood
Matrix 0 Vector 10 0000000000000000000000

> with(LinearAlgebra):
> mal:=Matrix(A);
> mal:=<<1,2,3>[<4,5,6>|<7,8,9>>;

0 1 2
mal = | —1 0 3
-2 -3 0
4 7
mal ;== | 2 5 8§
6 9
> vecl:=Vector([x,y,z]);
> vec2:=<1,2,3>;
> vec3:=<1[2]3>;
e
vecl =
F T
vec? = | 2
_3_
veel :=[1, 2, 3]

0000000 Vector 000000000 (column vector) OO0 ODOOO
00000000000 0000000 Transpose(vec) 000000000
000 (rowvector) JODOO00DOODO0O0OO0row DOOOOOOOOO
column 0 OO0

0000000000 LinearAlgebra package 000000000000
00000000 D0Omatrix D00 O0O000D00O0OO0OOO0OOOOO0OO

gog
> mal0.mal;

> MatrixAdd(maO,mal,X,Y);

-5 —6 3

-6 —-10 -2

3 -2 -13
Y X+4Y 2X4+7Y
-X+2Y oY 3X +8Y

—2X+3Y -3X+4+6Y 9Y
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> mal.vecl;
y+2z
—x+3z
—2x -3y
> Transpose(vecl) .vecl;
> Multiply(vecl,Transpose(vecl));

2 +y? + 2°

2 zy x2

zy Yy yz

Tz yz 2°

000000 with(LinearAlgebra) 00 000000000000 OOOOO
gbobooboooobooooooboooboooooooboobooobooonn

e MatrixAdd - matrix or vector additiond O O(MatrixAdd(A,B,c1,c2):c1*A+c2*B)

e DotProduct - vector dot (scalar)product 00 OO

e CrossProduct - compute the cross product of two Vectors 0 0 O O
e MatrixInverse - compute the inverse of a matrix 00 0O 0O O

e Determinant - determinant of a matrix 00 0 00O

e Trace - the trace of a matrix D 0 0 00O

e Adjoint - compute the adjoint of a matrix 0 0 0O 0O

e Transpose - compute the transpose of a matrix DO 00 00O

e Eigenvalues - compute the eigenvalues of a matrix 00 00O

e Eigenvectors - find the eigenvectors of a matrix 00 000000
e VectorAngle - compute the angle between vectors 0 00 0 O

e Dimension - determine the dimension of a Matrix or a Vector O O
ooag

linalg 0000000000000 00000000000O0OOO0000O
O0000linalg0000000000'A4000000000000 0 linalg
0000000 curl,diverge,grad,jacobian 0000000000 O0O00O00OO
0000000000000000000000000000LinearAlgebra
000000:.640000000 RARGOOODOOODO
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1.5 MapleV UODOOOOOOO

1.5.1 0OO00Oogoogooo

gboboobOobooooboooooobooooboboooobon
O00000000000OMaple 00 BASICO COOOOOOOOOO
gboooooboooobooobooboboooobobooboooobooooon
gbobooboobobobobooboooooooooooooooboobooon
gboboobOoboboooboboooobobooobooboooobon

OOOMaple 00D DOOO00O0DOOOOODOOOOOODDODOOOO
goooooboooobobooooobooooo

1. 00b00b00ooboobooooon
gbdbgboobobobobobooouoboboboobooobooon
gobooboooooboobooooooboboobooooooonn
OO000000oooOoOo0O0DbO00o00obooO0oDOObODMaple
goboboooboogoboboooboboobbooobboaan
gbooooooroboooooobobobobooboo"obonbo
Uoooboboooboob bboooboobooboobooobo b0g

2.00000000
gobooobooobooooboooooooobooooooooboon
obobooobooboboobobooboboboooooobooboon
oooo

e OOOODODOO
e OO OOOODODOODO
o OO

gbobooobbobobdobobooboobooooboobooan
goboooboooboooooooboooboboooboboooobo
goboobooooobooboooooobboooboooooooDn
gbobboboboboobdobobooboobooooboobooan
gboboagboooboobooboboaoboaobooogod

3. 0000
oboboooboobooooboboobobooboobooooobooboon
O ERROR,type check, 000 000000000000 ODOOOOO
gboooooooooobooo

1.5.2 Maple DD OODO

gobogobogbboogbboobbooooboobboooobboooon
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if 0ooo
for OOOOODOOOOOO
while 0000 O00OOOO

gboboooooboooon

if conditionl then
statement sequence 1

elif condition2 then
statement sequence 2

else

default statement sequence
fi;

for i from start by change to finish
do

statement sequence

od;

while condition
do

statement sequence
od;

next,break

for O while- loop OO0 O O0OODOOOO0ODODOOODO loopJO0DODOOOO

000D next,break DO O0O0D0OO0OO0O0O0OO

e if condition next; od 0000 OO0 loop O

> for i from 1 to 10 do
> if (modp(i,2)=0) then next fi;
> printf("%d, ",i);
>  od;
1, 3,5, 7,9,

e if conditionbreak; 0000 od DO DO OO
> for i from 1 to 10 do
> if (i>5) then break fi;
> printf("%d, ",i);
>  od;

1, 2, 3, 4, 5,

loop O OO
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ooo
procedure 00000000 O0ODODOO

name := proc( input sequences)
local variable sequence;

global variable sequence;
options option sequence;
description descripiton sequence;
statement 1;

statement n;
end;

procedure 000000000 statement DO OO0 0000

1.5.3 0UO00Oogoogooo

0000000000000000000000 procedure 10000
000000000000000000000000000000000
> 1ist1:=[48,56,68,72];
list1 := [48, 56, 68, 72
00000000000000000000000000000000

0000000 shift4+enter 00000000
> stat:=proc(datal)
> print(datal);
> end;

stat := proc(datal) print(datal) end proc
> stat(listl);
[48, 56, 68, 72|
D0000000000000000000000"

> n:=nops(listl);
> ave:=add(list1[i],i=1..n)/n;
> disp:=0;
> for i from 1 to n do
> disp:=disp+(listi[i]-ave)~2;
>  od:
> disp:=disp/n;
n:=4
ave := 61
disp :==0

lfor 0000000000000 00000000000D000000000000000
O0000add 0000000000 OO0O0O0OOCOOOOODODOO
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disp := 91

000000000 od;0od:00000DOOODODODOODOOODOONO
0000000000000 000O00DO00DOO00ODd lecal OO OO
0000000 0Olocal variables 0 proc 000000000 OOOOproc
0000ooooooooooooooooooogooooooooo
ooooooooooooog

> stat:=proc(datal::list)
> Jlocal n,ave,disp,i;
> if nargs=0 then ERROR("no argument") fi;
> n:=nops(listl);
> ave:=add(list1[i],i=1..n)/n;
> disp:=0;
> for i from 1 to n do
> disp:=disp+(listi[i]-ave)~2;
> od:
> disp:=disp/n;
> printf("Average =%10.5f\n" ,ave) ;
> printf("Variance =%10.5f\n" ,disp);
> printf("Standard disp.=%10.5f\n",evalf (sqrt(disp)));
> end;
> stat(listl);
stat := proc(datal::list)
localn, ave, disp, 1;
ifnargs = 0 then ERROR(“no argument”) end if;
n := nops(listl);
ave := add(listl;, i = 1..n)/n;
disp :==0;
foritondo disp := disp + (list1; — ave)? end do;
disp := disp/n;
printf( “Average =%10.5f \n”, ave);
printf(“Variance =%10.5f \n”, disp);
printf(“Standard disp.=%10.5f \n”, evalf(sqrt(disp)))
end proc
Average = 61.00000
Variance = 91.00000

Standard disp.

9.53939

go0ooDooOo0ooooOoOoooooD printf0000DOOOOOOOO C
g00000o00ooO0ooOooo0ooodOo helpdbOoobooOooOoOoO
gbooooooboooooooboooooooboobooboobooonon
000000000 datal:list 000000000 Odatal O type O list O
g000O00O0 Maple dOODOOODOOO

gboobdibdlbnargsOD 000000 O0O0D0OOOOOprocdngn
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0000000 nargsd args OO0 0OD00O0O0OOOODOOOCOODOOO
O0000O0Onargs 0 proc 00000 mput 000 0O00O0OOOOODOOOO
00000 input 0 args[i] 0000000000000 DO0O0O0OOO0OO
proc 0O0O0ODOODOO procname 0 OO00O0O0O0OOOODOOOOOOOO
goooooooo

00000000000 0DbOO0O RETURNDOOOOOOOODOODOOO
0000000000 procedure 00 O0O0OO0OODOODOOOOODOOOO
00000000000 00000000 Chebysheyv OO0 ODOODOODO
goooogo

Tn(x) =22Th_1(x) — Th—2(x) forn >=2 (1.1)

O00To(z) =10 Th(x)=2000000 Maple DODOOO
> T:=proc(n::nonnegint,x::name)
> #Chebyshev polynomials
> option remember;
> if n=0 then RETURN(1);
> elif n=1 then RETURN(x);
> fi;
> 2%x*xT(n-1,x)-T(n-2,x);
> end;
T := proc(n::nonnegint, T::name)
option remember;

ifn = 0then RETURN(1) elif n = 1 then RETURN(z) end if;

2%+ T(n—1,2) —T(n -2, x)
end proc
000000 option remember [0 remember table 0000000000
gooo0d0ooooooooooooo4#0000000000O000O0
0000 plot DOOODOOOOOO500 Chebyshev 00O OOOODO
Ooo0o0ooOoooYpoOo000O00000000OooO0oOoOooUoo

> for i from O to 5 do

> f||i:=unapply(expand(T(i,x)),x);

>  od;

fo:=1
fl =x—z
f2i=2—22%-1
f3:=2—42%-3x
M =2—8xt 822 +1
f5:=x— 162> —202 4+ 5z

> plot({f0,f1,f2,f3,f4,f5},-1..1);
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“Maple VOODOOOOODOO”O0O procO0O0D00OO0OO0OOOOODO
ggbggboobooboobuooboobboboobooa

1.5.4 0O00O0OO0OO0OO
debug OO0OOOO

0000000000000 D0O0000000 printlevel,trace, mint,profile
00000000000000000000000000000000000
printlevel 00000000 printlevel :=1100000000000000
0000 printleveb=1 0000000 0trace 0000000000000
00000000 mint 0 maple 0000000000000000 syntax
0000000000000 0000000000000000000000
000 000000000000000000000000000000
O profile 00O OO0 ODOOAO help file,user library 0000000 O help
0000 “Maple VOODODODOOOOOO’0000000000O

ooo0oD0 plot ODOOOODO
ooo

filter(z) = 1—x/10 for x < 10 (1.2)
0 for x >=10

ggbooboboobooobgoan

> filter:=x-> if x<10 then 1-x/10 else 0 fi;
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filter := proc(z) option operator, arrow; ifz < 10then 1 —1/10 x z else 0end ifend proc
000o0oo0ooo00oooDoooooOooooooooooo

> plot(’filter(x)’,x=0..20);

1
0.85
o.e—f
o.4—f

0.2

024681)‘(01‘21‘41‘61‘82‘0

OO00000O0ooooooDOoOpletDO0O0O0OO0OOODOOCOOODODOO
oooooDoOoO0oo0ooDbDoOo0Oplet DDDOOOOOODOODOODOOOO
goooOoOoOoOoooooooOoOoOoOoOoOoOoOoOoOooopoifoooooo
gdbbdderror UO000OOOouobobOooobooboboooboano
o0ooOooOoooooOO0Dplet O0OOOOO0ODOOOODOOOODO
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1.6 0UO0O0gd
Maple 000000000000 000000000O
e 00D0DD0DODODO
e 00DDDOO
e 00D0DD0DOOD
e 00DDDOOOD

goodoooooooooobobuoooooo

000 DO00OOOO00oD000 0 Ooo0oo O oo 197 0ogoo
O Filtering O Fitting 0 0 0 0 0 W.Gander and U.von Matt,” Smoothing
Filters”,Solving Problems inScientific Computing Using Maple and MAT-
LAB,Walter Gander and Jiri Hrebicek,Springer 1991,Chapter 9. 0 0 0O O
00000 MATLABOOOOOOOO)

1.6.1 0O0OO0OO0OOOO

oopoooooo
> f1:=t->subs(a=10,b=40000,c=380,d=128,a+b/(c+(t-d)"2) );
> T:=[seq(£f1(i)*(0.6+0.8*evalf (rand()/10712)),i=1..256)]:
> writedata(‘DATA101¢,convert(T,list));
goooooooooooooboooooooooo

000000000 0000000 readdata 00000
> restart:

> T:=readdata(‘DATA101¢,1):
oo00ooooOoooOoooooooooooooooooooooooo
ggdoooooboboboobbobbtooooooobobobbooooobo
gooooooooOoOoooOoooooooooooooooooUOoOoO
oo0o0O00O0oO0O0oO0O MacOO MapleDDDDDDDDDDDDDDaD
Windows 0 00 Current directory 0 00 O OOunix 00 Maple 00000
ggooooobooooogo

ooooopoooooooooooDoODO
> T[1];
> mn:=nops(T);

11.70159307

n = 256
gbobobouboooogbooboboboboobobooobao
000000000000000000000000 stats [importdatal

2MacO0DOO0D0DO0O0DOOO ‘Mac HD:Desktop Folder:tmp1‘0 0000



l.ednooon

goboooboooboobooobooboooooboobbooboboon
gobooooooobooooooobooooooooooboooboon

gooooooooooOoOoOOOO0OO0OOO0OOOOOO
> with(plots):
> listplot(T);

Warning, the name changecoords has been redefined

140 |
120
100
80
60
40
20-

0 50 100 150 200 250

uoboooooboboooboooboooboooboooboooooon
000000000 0O00O000000D (istlist)y00O0O0O0O0OOOO

gooobooobooon
> datapoint:=[seq([i,T[i]],i=1..256)]:
> plot(datapoint,style=point);

140 |
120
100
80
60
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1.6.2 0O0OO0OOOO

g000o00ooOO00ooO0o0DOoO0oooooooOobDoOooognMaple
O0FFT(000000000000000000O000000000 help
gbooogo

guag

0000026 00000000000 DATAI101 0000000000
0000000000000000000000000000000000
00000000000000000000 e2+8200000000128
0000000000000000000000000000000000
000000000000000000

1 FILTER FUNCTION
0.8
0.6
0.4
0.2
0 10 20 30 40

oo

000000 x (t)D0o00D0ooooooooo

Mﬁ:/mﬂmmMMMﬁ (1.3)
goooooooodoooooooboooobooooooobooonon
gooooooooouooooboouoouoooboooobooooo
00000000O0000C. «z(y)00O0OO0O0O0D0oOO0O0oOoOooooooo
000000 HzOOOOOOODODOOODODDOOOOOOOOOoOooDOO
goooooooootuoooobooooooobooooooobooooo
o00000D0DO0ODO0O0DODOO0ODODODDOO0O0DDODOOOOoDDODOOOOooOO
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gbobgooobooboboobobobobooobooooboooo

goboooobooobooboooboooobooobooobooobooobooon
gboobOobooooboboobooooobooboooon 25600

ggbboobboooobooob=00b040bbobobooobaaoo

gbbogbooaobooobuoobooboooaobooaobooaondg

a(t) = /_OO X (f) exp(2mift)dt (1.4)

ggobobooobooobooboooobooooooobooooooboooooooo
gbogboobodgobbobdoboboboboobobob boboboo
gbbooboooboobuodg ooboobgoobooooboobooa

go

gdodboooouooooouoaoo
restart:

T:=readdata(‘DATA101¢,1):
Idata:=array([seq(0,i=1..256)]):
Rdata:=convert(T,array) :

gbobogoobooobooboonbd
>  temp:=add(i~2,i=T);
temp = 534310.3363
goo rFTOO0O0ODOOO
> FFT(8,Rdata,Idata);

>
>
>
>

256
oboboooooooooo0 FFTOOO0O0ODOO0 DODOODOOOO
2 0000000000000000000000000O00000O0
gooooooo

> printf("%3d %15.5f %15.5f\n",1,Rdatal1],Idatal1]);

> for i from 2 to 128 do

> printf("%3d %15.5f %15.5f J%15.5f %15.5f\n",

> i,Rdatal[i],Idatal[i],Rdata[258-i],Idata[258-i]);

>  od;
1 8499.54360 0.00000
2 -4162.42568 -81.92030 -4162.42568 81.92031
3 2602.79575 120.20850 2602.79575 -120.20850

un
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125 -160.89158 -128.35496 -160.89158 128.35496
126 91.48342 49.80754 91.48342 -49.80754
127 36.31291 -82.64862 36.31291 82.64862
128 53.48855 6.15179 53.48855 -6.15179

000000000 logplotOOOODOOODO
> Adata:=[seq([i,sqrt(Idatali] "2+Rdata[i]~2)],i=1..128)]:
> with(plots):
> logplot(Adata) ;

Warning, the name changecoords has been redefined

.1ed 5

.1e3+

000000 Parseval OO0 OOOO0OOOOOOOOOOOOO
> add(Rdatal[i] “2+Idatal[i]~2,i=1..256)/256;
534310.3320

gbboooboooobooooboooboooooooboobooooon

goooooooon
> filter:=x-> piecewise(x>=0 and x<=20, (1-x/20) );
> plot(filter(x),x=0..40,title="FILTER FUNCTION");

1
filter := x — piecewise(0 < z and x < 20, 1—%;3)
godoooooooooooooooooooooobooooboooooo

oopooooDooooo
> FRdata:=array([seq(Rdatal[i]*filter(i),i=1..256)]):
> FIdata:=array([seq(Idatal[i]*filter(i),i=1..256)]1):
goooobooouoooood
> iFFT(8,FRdata,FIdata);
> Adata:=[seq([i,FRdatal[i]],i=1..256)]:
> plot(Adata);

256
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s"ﬁ\\
] [\
60 [\
] /
50 [
40 { : \\\
1 // \\\
30 7] B // \\\\
_— - — N\
0 50 100 150 200 250

gbboobooobobooboobooboaoboo

1.6.3 0000 (UODOOOOOOO)

00+¢+0000000000000000 z(vh)00000000000O0OO0
000000000 0oO00OUOoO0O0 AOOOODODDOODODOOOOOOOO
oo

ft) = / z(t — 7)h(7)dr (1.5)

gboobooaobooaoobogad

0.8
0.6
0.4

0.2
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guag

00+00002(¢)00000000000000+¢0000000000
t000000000 A)D000000000000000000000
00000 ()0 A(#) 00000 (convolution)d

fit)y= /oo x(t — 7)h(r)dT (1.6)

— 00

0000000000000000000000000¢¢+00000000
() 0000000000000000000¢—700000 A(t—7)0
00000000000000000000000 «+xh000000000
ooooo

F(z % h) = F(z)F(h) (1.7)

0000000000 convolution 0000000 O0OO0OO0ODOOOOOOO
0000000000000 0 2z(x) 000000000000 F(xxh)/F(h)
000000000000 0000000000000dconvolutiond OO0
J0o0000o0oo00ooU0o0odoDOoDOoooooooooDOoooon
00 deconvolution 0O OO0 OO

oad
> restart;
> fun:=x->piecewise(x>=0 and x<=1,1);
> h:=x->piecewise(x>=0 and x<=1, 1-x);
> plot({fun,h},-1..2);

fun := x — piecewise(0 <z and = < 1, 1)
h:=x — piecewise(0 <z and z <1, 1 — z)
00000000000 Oconvolution 0O OO0OOOO0O
> plot(int (fun(x)*h(t-x),x=-1..1),t=-2..4);
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1.64 0D0OOOOOOO

0000000000000 0000000000000000 default O
EIMapleD|:|DEIDDDDDDDDDD?:DDDDDDDDDDDDDDDD
goooboooooooooooobobooooooobbobooooobooobooo

oo
gooooogano (DDDDD’DATAIOI’DDD
f@) =at—" (18)
N c+ (x —d)? '

ggbogobooboooobuooooboaoboobooobaoaboo
gooooooo0oboo0odobD eoO0ODOOODOOODOOOBDOOO

oooooodo0cO0OO0O0d00O00000ODO0OO

30000000000000000000000000000 Maple D0000D

library 0000000 The Maple Application Center (http://www.mapleapps.com/)
000000 D00O0O0OD0OO Levenberg-Marguqrdt O 0O O
Re-

0 Data Analysis

00 Data fitting 000 000 OO Generalized Weighted Non-Linear
gression  Using the Levenberg-Marquardt Method by David Holmgren
(http://www.mapleapps.com/categories/data_analysis_stats/data/html/genfit_6.html)

oooooo
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(L) 0000000000000000000000000000000
0000000000000000000000000000000000
0oooo0oooo

000000000000 (a+ Aa,bo + Aby, co + Acy, do + Ady) 00
00000000000 000 (ag,bo,c0,dg) 000000000000
ooooo0oooo

Af = f(ao—I—Aal,bo-i-Abl,Co+A61,d0+Ad1) (19)

_f(ach bOv Co, do)

af(a()vbOvCOde) 8f(a0,b(),C(),d())

= 9 Aaq + BT Abq
n 5f(ao,bovcoado)Acl . 5f(ao,bo,co,do)Adl
Jdc od

000000/ 0000000000000 DATAL0’ 00000 t=1
002600000000000000 fi~fis00000000000
000000000000000 Afy ~Afase 00

Afl Aaq
Af:
. Aby (1.10)
: Acy
A fase Ady

oboooooboo40 260000

), (), (), (),

J = : : : : (1.11)

(7) s (5) (3),0 (30)
9a Joss  \ 9 )a5s  \9¢ /955 \9d)g5g

00000000D0O0O0O0O0oDOOooOooo J'ooooo Jtooon
J = (Jt) gt (1.12)

gboooooooooobooogon

ACLQ Afl
Ab Afa
=ty . (1.13)
Acy :
Ady A fas6

000000000000000 (Aag, Abs, Acg, Ady) O (Aa, Ab, Ac, Ad)
0000000000000000000000000000000000
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gbbogboobboobboobbobooboobooboobooooboon
gboooobooooboboobooboooobobooobooboooon
gboobOoobooooobooboooooboboooooobooogon
gbboaoboooboobbooboobuoooboooboobobbobodd

go

gogobbooobbobbooobboooobbbuooobbooon
O00OO00OO0OO0OOOOD LinearAlgebra 00000000 OOO

> restart;

> with(LinearAlgebra):
gogooooooooo
T:=readdata("DATA101",1):
datapoint:=[seq([i,T[i]],i=1..256)]:

(§)00000000000000000000000

{

>
>

> f:=a+b/(ct+(x-d)"2);
> f1l:=unapply(f,x);
b
f'_a+7c+(x—d)2
T S
e c+ (z —d)?

(i._)DDDDDDDDDDDDDDDDDDDDDDDDD
dfda:=unapply(diff (f,a),x);

dfdb:=unapply (diff (f,b) ,x);

dfdc:=unapply(diff (f,c),x);

dfdd:=unapply (diff (f,d) ,x);

dfda =1

>
>
>
>

1
c+ (z —d)?

b
(c+ (z —d)?)?
b(~2z +2d)
(c+ (z—d)?)?

dfdb := x —
dfdc :=x — —

dfdd :=x — —

gooooooooao
> guessl:={a=10,b=1200,c=10,d=125};
> plot([datapoint,subs(guessl,f1(x))],x=1..256);

guessl == {c¢ =10, a = 10, d = 125, b = 1200}
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140 M
120 W

1 \
100? m

60 |
40; il
20 7 W MJW\ ‘W‘f‘f |
LMW

50 160 10 200 280

(10)0D000 Af00000000000000000000 odO
000000000000000000000000000000000
000000000000000000000000000000000
0000000000000000

> imax:=nops(T);
> df:=Vector([seq(evalf (subs(guessl,T[i]-f1(i))),i=1..imax)]);

1maz = 256
df :=[256 Element Column Vector Data Type : anything Storage : rectangular Order : Fortran_order ]
00 (1) 0000000000000000

> Jac:=Matrix(sparse,l..imax,1..4);

> for i from 1 to imax do

> Jacli,1]:=evalf (subs(guessl,dfda(i)));
> Jacl[i,2]:=evalf (subs(guessl,dfdb(i)));
> Jacl[i,3]:=evalf (subs(guessl,dfdc(i)));
> Jacl[i,4]:=evalf (subs(guessl,dfdd(i)));
>  od:

Jac :=[256 x 4 Matrix Data Type : anything Storage : rectangular Order : Fortran_order]

(112)0000000000000000000000
> IJac:=MatrixInverse(Multiply(Transpose(Jac),Jac)):
> tJac:=Multiply(IJac,Transpose(Jac)):

000 (113)000000000000000000000
> guess2:=Multiply(tJac,df);

12.6937323162751525
4132.31700686929162
42.3461242313161322
.616791465529281768

quess2 1=
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b=subs (guessl,b)+guess2[2],
c=subs (guessl,c)+guess2[3],
d=subs (guessl,d)+guess2[4] };

vV V. V V

guess3:={a=subs(guessl,a)+guess2[1],

guess3 := {a = 22.69373232, d = 125.6167915, b = 5332.317007, ¢ = 52.34612423}
gbboobooboobboboboobooboobboobooboon

gbooooobooooboboooooo

> plot({datapoint,subs(guess3,f1(x))},x=1..256);

140
120
100 |
80

|
(N
i

Il
Al
.”/' |

L \V

| I M
60- \\ ‘J “W

] i !
40- Ul M,

1 I N
20£ w\,“w’\
P

l
AN | T
N MW MM v o Wﬂ ‘v”‘“ Nl w\

W

50 100 x 150

200 250

> guessl:=guess3:

oo000O0oooo00Af 00000000 OOOOOOOO0OOO
Oguess2000000 107°0000000000000000000O0

gbobogoboobooboboobooboo

> print(guessl);

{c = 353.4305681, a = 9.976958126, b = 39219.46517, d = 128.7272859}

with(plots):
F2:=plot({datapoint},x=1.

)

vV V.V V V

.256,color=red,style=point):

Fl:=plot(subs(guessl,f1(x)),x=1..256,style=line,color=blue,thickness=1

display({F1,F2},title="Raw data and fitted curve");

Warning, the name changecoords has been redefined



50

good

Raw data and fitted curve

140
120
100 -
80 |
60-
40 P

gd:.0boogoooogaboo

gbobooooooobobooobbobboooboboooboooboooo
gboboooboboooooboboooboobooboobooboooobooon
000000000 2000 Newton-Raphson 000000000000
gbooooboooobooboobooobobooooboooooboooo

uboooobobb 000000 00a0000000O0O00O0O00OO

y=f(z;a) (1.14)

0000000002000

N
(@) =S(@) = [y — f(asa)) (1.15)
=1
000000000000000 y — f(zi;a)= f(z;a) 00000000
000000000000000SO0a0000000 (00000)000
ooo

N

dS(a) L Of(wiza)
Fas ——2;]‘(90@,31)78% =0. (1.16)
000000 Ji(a) = [%} Dooo
VS(a) = —2J"(a)f(y;a) =0 (1.17)

000D0000000000000D0 Newton-Raphson 00O OOO0ODO

V2S(a)Aa® = —vS(a) (1.18)
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000oood Sa0oooo 20000000

2 N - a Tita N 2 T,
925 (a) :_2{2 0f (ws;a) Of (wi; >+mea>} (1.19)

8ak8ak/ =1 6ak 6ak/

O000000KDODODOOODOD a® ooooooog Aa® oo
oon

{Jt (a(k)> J (a(k)> + if (xi;a(k)) V2f (xi;a(k)) } Aa®) = Jt (a(k)> f (xi;a(k)>
i=1
(1.20)

0000000000000 20000000000004.10000000
00000000000000000000000000000000001
000000000000000000000 f(z;a) 000000000
00000000000000000000000000000000

00 Gauss- Newton 0000000000000000O0O0OOOOOO
0000000000000000000000000000000000
0000000000000000000000000002000000
000000000 DOO00000D0O000000d0 Levenberg-Marquardt O O
00000000 Numerical Recipesin C(0 00000000000000
WilliamH.Press 00000000 1993 000000






93

20 4Oo0O04

gbobooboobooooboobooooooobo
gbbooboobbooboobooboobooboobobobonon

lL.restart U0 0000000000 OOOOO0DOOOOODOOODOOO
UobO00obOo0obOoboo0obooboboOobO restart OOODOOODO
ooo

2.00000000000000DOO000ODOOOODOOODbOO0O0ObOOd
gboooooboooooobo

. 00b0boobooboooobobooooboobobooooooo
0000000000000 00000O0000000000 printf O
goooooobo

4. 000000DDODDOOOO0ODOOOOO0O0ODODODODOOOOOOOOO00
0000000000 O000plot O Plotting error,empty plot 0 OO
ocoooooooooo
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2.1 JUUubobbooooobbbouooooon

goooo
aMnO3}~ +bH" — cMnOj + dMnO; + ¢H,0 (2.1)

00000000000000000000000000 Maple 00 B.W.
0000000000000 000000000000000000000
00 0 1993,p.205)

oo

gdobotooodoboobuoouoobooo
Mn:=a=c+d;

00:=4*a=4*c+2*d+e;

H:=b=2xe;

Q:=-2%a+b=-c;

vV V. V V

Mn:=a=c+d
00 :=4a=4c+2d+e
H:=b=2e
Q:=-2a+b=—c
0000000000000 000D000D0O isolve DOOODOODOOO
> ans:=isolve({Mn,00,H,Q});
ans :={a=3_7Z1,b=4_71,¢=2_7Z1,d=_Z1,e=2_71}
goddoooooooboooobbbooooooooo Zz1oooo
000 Z101 0000000000000 00DOO000O0O
> subs(_Z1=1,ans);
{a=3,b=4,¢c=2,d=1,e=2}
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22 JO0U0O0uobboooood

gbooooodobo booboobO bobobobo11vvoooooobaon
DO0oOOoOoOos5ADDOODODODODOOO 1969 O

A

A VO
— g
C,
<3
>

g

gboboobooooboobo1boobooooobooooboooaon
gboboobooboobooooboobooooooooboooooooon
gooooobooooboooobooboooboobooooboooboobobooboooo
000o00o0oo0o0ooooo0V(z)=0000000O0OOOOO

n* d*p(z)
o T d = ep(z) (2.2)
goooooooog
x<0 00 ¢x)= Aexp(ikz)+ Bexp(—ikx) (2.3)

x>a 00 ¢(z)=_Cexp(ikx).

goo k:\/2ms/h2DDDDDDDDDDDDDD
00ooooo0dooodd e <> VWOOoooooooooooooo

e>V 00 k=4/2m(e-V)/A* 000000000000
0<z<al0 ¢(x)=Fexp(ikz)+ Gexp(—ikz) (2.4)

gbbooboboobooboobooboobooboobooboon
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O00ddodbobon0 =00 z=¢000000000O0OO00O0O0O3
(2.5)

©)0000 A+B=F+G

x=0 0O ¢

x=0 0O ¢(x) 0000 k(A-B)=k(F-G)

r=a 0 ¢x)0000 Fexp(ika)+ Gexp(—ira) = Cexp(ika)
z=a 0 ¢(x)0000 kFexp(ika) — kG exp(—ika) = kC exp(ika)

00000000000 50000000400000000000000
000000000000000 FF,GOOOOOOB/ADDOOO0OO0O
0000000000 C/A0DD00000000000000000000
0000000000000 00000000000000
422 de(e — V)] H

: CEL0) e

B2 1
o - ] [
A (k2 — Kk2)2sin” ka Vi sin® ka
c S |+ (k% — k?)?sin® ka - B Vi sin? ka -
Al 4k2 k2 4e(e — Vp)

oooooo
0<e<VoOO a=4/2¢(Vo—¢)/R* 000000000
(2.7)

0<z<alO0¢p(z)=Fexp(azr)+ Gexp(—az)

gogoboooooooo
ol V¢ sinh? aa -
—| =14+ —F/——- 2.8
A -y 25

000000mVe?/h?=8000000000000000000000
O0|E/Vo|<1000000000 |C/A?00000000000000

0oo0ooo
1 ) e
] / \,/
0.8 |
0.61
IC/AI"2
0.41
] ‘»‘
021 |
1
0" 2 4 Eno 6 8 10
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g

O00000DO0000000D0DO0O00 MapleDODOOOOOODO

0000000000 0000000
restart;

eql:=A+B=F+G;

eq2:=kx* (A-B)=kappax*(F-G) ;

eq3:=Fxexp (Ixkappa*a)+Gxexp (-I*kappa*a)=Cxexp (I*k*a) ;

eq4 : =kappax*F*exp (I*kappa*a) -kappa*G*exp (-Ixkappa*a)=k*C*xexp (I*k*a) ;

eql =A+B=F+(G
eq2 =k(A—B)=x(F—-G)
¢q8 = Fellra) 4 Gel~Ira) — ¢ elka)
eq) =k Felrad) — xGel-Tra) = | Cellka)
o0 BCOOODOOOoOOooOOO
> solve({eql,eq2,eq3,eq4}, {B/A,C/A});
0000000000000 OMaple0ODO0OODOOOOOODOODODO
dodooooooooooooDpooooor,GoOooooooooo

vV V. V V V

goooood
> soll:=solve({eq3,eqd},{F,G});
1 _ (Ika+Ika) 1 (ITka—Ika)
soll ::{Gzic(m k)e ’F:_C(/ﬁ—k)i )

K 2
ooooorGOOOO0O0OOOOOOOOOOO
> assign(soll);
> F;

l C(K_’_k.)e(lka—lna)

2 K
> sol2:=solve({eql,eq2},{A,B});

1 C(=%1 K>+ %2K* + %2k? — %1E*> + 2k %2k + 2k %1 k)
sol2 :={A == ,
4 kk
B 1 C(%2/€2—%2k2—|—%1k2—%1/€2)}
4 kK
%1 = e(Ifca+Ika)
%2 = e(Ika—Irca)

> assign(sol2);

> A/C;

i(_e(Irca—i-Ika) K2 _|_e(lka—1rca) K2 _|_e(lka—1rca) k2 _e(Ifca+Ika) k2 +2ke(1ka—lma)/€
+2ke(Ina+1ka) H)/(k,‘i)

> A/B;
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—%1 K%+ %2K%2 4+ %2k% — %1 k®+2k %2k + 2k %1 &

%2 k% — %2 k2 + %1 k%2 — %1 k2
%1 = e(InaJrIka)

%2 = e(Ikaflﬁa)
ggobobobooooboobobuooobooobboboobbooon

gboboboboboboboboooobobobooboboboba
O000000000DDD0ODDOexp O trigonal 0000000000
00000o00booO0o00oDboO0o00ooo0oOg MapledOOOoOOoOOooO
gbobooboooobooooobobodgooboboboobobaba
000000 B/AODDOOODOOOOOOO

> BB:=simplify(convert(A/B,trig));

BB = —(K? %2 + T k2 %1 — k2 %4 + T k® %3 — k2 %4 + T k® %3 + k2 %2 + T k* %1
—2kn%4+2lkm%3—2kn%2—2lkm%1)/(

K2 %4+ T K2 %3+ K2 %A — T k> %3 — k2 %2 — Tk %1 + k2 %2 + I k2 %1)
%1 :=sin(ka+ka)

%2 := cos(ka+ ka)

%3 :=sin(—ka+ Ka)

%4 := cos(—ka+ ka)
ggboobobbobobobbooboobbooboooobo

> conjugate(BB);

—conjugate((k? %2 + I k2 %1 — k2 %4 + I k2 %3 — k2 %4 + T k2 %3 + k2 %2 + T k* %1
_2m%4+21m%3—2%%2_21“%1)/(

K2 %A+ T K2 %3 + k2 %A — T k> %3 — k2 %2 — T k2 %1 + £2 %2 + I &2 %1))
%1 :=sin(ka + ka)
%2 = cos(ka+ ka)
%3 :=sin(—ka+ Kka)
%4 = cos(—ka+ ka)
000000000000 Maple OODOODO default 00O DO OO

oo00o00o0D0OD00O000k,ke0DO0O00D0DO0ODO0OOO Maple O

goodouoooooboooooooba
> assume(k,real):
> assume(kappa,real):
> assume(a,real):

0000000000 eassume 00000000000 O(QOO)OD0OO
O000O0simplify 00000000 side relations(0000)0000O
ggogooood

> simplify(conjugate(BB)*BB,{cos(kappa*a) "2=1-sin(kappa*a) "2} );
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42 R? 4 (K =282 62 + kY sin(k a")?
sin(k”a”)2 (K4 =2k K2+ k)
> collect(%,sin(kappa*a));
412 K2
1+ IS R N
(K% =2k K= 4+ k) sin(k"a")?
00 A/CO0O0000O00OO
> CC:=convert(A/C,trig);

cC e L TRLE %267 + %2 B2 — %1k + 2k %2k + 2k %1k
4 k™ K™
%1 :=cos(k”a"+ k™ a”) + Isin(k”a "+ k7a")
%2 :=cos(k”a"— Kk a") + Isin(k"a"— K a")
> simplify(expand(conjugate (CC)*CC)) ;
1 -k +k%cos(ka)? —2k2 k2 cos(ka”)? — k4 + k4 cos(k a”)? — 2k k72
4 k2 K2
>  simplify (%, {cos(kappa*a) "2=1-sin(kappa*a)~2});
> collect(%,sin(kappa*a));
14k? k2 4+ (5 =252 62 4 k) sin(k™ a”)?

4 k2K
1 (K4 =2k K2 + k) sin(k™a")?
N 2 2 +1
4 k™ kK

gbooooooooog
OO000O000DOOO0O00O0plt00O0OO0DODOOODOOODOOOO

ooooooooooo
CC3:=epsilon->(1+V0~2xsinh(alpha*a) “2/4/epsilon/(VO-epsilon) )~ (-1);

1

>

CC3 :=¢— T
= V0?sinh(ava)?

1

+ e(V0 —e¢)
gobooboouoobobobuoobooboooboobooooo
mVpa?/h? =800 mO 000000000000

> eqb:=m*V0*a~2/hbar~2=8;

wos e VO a?
@ hbar®
> alpha:=sqrt (2*m/hbar~2*(VO-epsilon)) ;
m (V0 —¢)
a =24 ——s
hbar?
> solm:=solve({eq5},m);
hbar?

solm := {m =8 ——}
V0 a
ggbobdoobooobboooboooboooboobobbobbo
oo0Vvwobooooooobooooboooooo
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> alpha:=sqrt(expand(subs(V0=1/iV0, (subs (solm, (alpha*a)~2)))));

a:=4/1—iV0e

ggooobobboooobbbooouobobbblaxe=a00O
googo

> fun:=subs(V0=1/iV0,V0~2*sinh(alpha) “2/4/epsilon/(VO-epsilon)) ;
_ 1sinh(4v/1—iV0e)?

4 iVOQE(%—é‘)
goooooooooooOooOoOOOOODODODOOOOOOOOOO

> den_f:=denom(fun)/iV0;

den_f :=41V0e(-1+1iV0¢)

fun

> num_f :=numer (fun) /iVO0;
num_f := —sinh(4 /1 — V0 ¢)?
iVo*epsilon 00000000
> den_f1:=subs(iVO*epsilon=x,iV0~2*epsilon~2=x"2,expand(den_f));
den_fl .= —4x + 422
> num_f1:=subs(iVO*epsilon=x,num_f);
num_f1 := —sinh(4 /1 — z)?
unapply OO0 O000O0OOOOODOOOO
> CC3:=unapply((1+num_f1/den_£1)"(-1),x);
1
sinh(4 /1 — x)?

—4x+ 422
> plot(CC3(x),x=0..10,labels=["E/VO","|C/Al"2"]);

go0oDoOooooobplot0D0DODO

CC8 :=x —
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23 0JU0U0ubbbooooobbbuoooooob

b0 oooboob bobooboo o oboboooo 1978 o

oo

000 (thermal expansion) 000 000000000000 OOOOOO
ggdddooooobbbuoudu «c0bbbbboooobbo

U(x) = cx?® — ga® (2.9)

gbooboobooooobooboooboobobooooooboooon
0000000022 0000000000000000000000000
gooooobooooobooo
gboboobOoboooobooooooboooobooboooobon
gboooobdob e« 000b00000b00boo0ooooDa

ffooo xexp (—pU(z)) dx

z) = 1o (2.10)
() J= o exp (—=pU () dx
O00O00oooOooooo g=1/(kg7T)0OO0OOOOOOODODOOO
39
gooooo
oo

gboobooooboooooobobobobobobooooooooon
gooooDoDD TaylorOOOOOOOOOODDOOOOOODDOO
gobooobobooboobooobooooboooooooobooooboaoo
0000 /7T 00000000000000000000O0OO Maple

gooooooon
> restart;

> series(exp(-betax(-g*x~3)),x,5);
1+ Bga® + O(x)
oo000oooooooooooooo
> temp:=convert (%,polynom) ;
temp ;=14 Bga3
> f1l:=unapply(exp(-beta*c*x~2)*temp,x) ;
f1 =z — =P (14 Bgad)
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—o00«000000000DO0O000O0DOOO0O0O0O0O0000DOO00O0O
gboboooobooobooooobooboooboboooboooobooooo
goooo

> 1limit(int (£f1(x),x=-alpha..alpha),alpha=infinity);

lim vrerf(v/Bea)

a—o0 1/ﬁc
00o00DoooooooDooo ge00000O0O0ODOOOOOOO

assume 0000 MapleOODODDOODODODO
> assume(beta>0);
> assume(c>0);

go0o000ooU0OoOooooooooooooooooooooo
> limit(int(f1(x),x=-alpha..alpha),alpha=infinity);
VTV/B e
ge”
ooooo

> limit(normal (int (x*f1(x) ,x=-alpha..alpha)),alpha=infinity);

3VmVB ey

4 ﬁ~20~3
goooooooooo (I:II:II:II:I 20000000%% 0000000
0000O0000o00oo00ooOoU0oOoO0ooOoO)oooooOooo

> den:=%h;

den := VT ~ﬂ~ <
G c
> num:=%%;
num :§7ﬁ bey

4 2B
> simplify(num/den);

3 9

45 c?
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24 (JU0U0O0ObUoOoOoOoobobboOn

ooooooobooobooobaa
2n(t) +An(t) =0 (2.12)
ot B '

goo

I
o

<2n1(t)) + ()\1 + Kion1 (t)) (213)

ot
(%nﬁﬂ>+Awﬂﬂ = Kin(?)

000000000 ni(0) =ne,ne(0)=0000000000000

g

0000000000000000000000000000000000
0000000000000000 (214)0000000000000000
0000000000000 000000000000000 Kiy(Kij # K
oooooooooo

N N
%m(t) + | N+ Z Kij | nit) = Z Kjin;(t) (2.14)
J#i J#i
00000000000000000000000000000000000
000 0000000000000000000000000000000
000000000 ¢trapping model 1000 00000000000000
0000000000000000000000000¢+=00000000
0000000000000000000000000000000000
0000000000000000000000000000000000
0000000000000000000 2000000 (213)00000
000 OO ”Positron in Solids”,ed by P.Hautojarvi,Springer- Verlag,Berlin
1979 O

oo

O0000000o0oboo0ooooooooooo
> restart;

> deq:={diff(n(t),t)+lambda*n(t)=0};
deq :== {(Zn(t)) + An(t) = 0}
> dsolve(deq,n(t));
n(t) = _C1el-2Y
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gboboobooooboooouoooogobdobooboobobaoba

good
> deq:={diff(n[1](t),t)+(lambda[1]1+K[12])*n[1] (t)=0,
> diff(n[2] (t),t)+lambda[2]*n[2] (t)=K[12]*n[1] (t),
> n[1]1(0)=n[0],n[2] (0)=0} ;

deq = {
(% Tll(t)) + ()\1 + Klg) Tll(t) =0, nl(O) = ng, TLQ(O) =0, (% Tlg(t)) + A2 Tlg(t) = Ko Tll(t)

}

000 dsolve OO OOOOOOO
> soll:=dsolve(deq,{n[1](t),n[2](t)});

(22D Kianghr e Kip?ng  el228 Kiang Ao

%1 + %1 B %1

K19 ng e(~2 t+t%1) €

soll := {ny(t) = 71
0

n1(t) = ng e(—(M1+Ki2)t)

%1 = —>\1—K12+/\2
no(t) 0000000000 Dassign 00000000 OOOO

> assign(soll);
> simplify(n[2](t));
Kiang (e~ G1tKiz)t) _ o(=A2t))
A1 — K2+ A2
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2.5 Hamiltonian 00O OOQOOO
00

Ob0sO0b0O0000200000000000000000O00000OO

—IAE-(E-E) h-(E-E)S N (2.15)
h—(E-E)S +3AE—(E-E) B |

00000000 AE = E,—-Eg000000000O00DOOO E =
1/2(Ea+ Eg)0R 0 SOO000ODO0OO0O0O0OODOOOOOOOOOOOOOO
O00000O00SO200000000000000000000 (bond) O
00000 (antibond) DOOO

_ 1
Ei:E+|h|S:F§«/4h2+(AE)2 (2.16)

000000 0000000000000000000000000000

00 1997 O

00

> diagl:=-1/2*DE-(El1-Eav);
> diag2:=1/2+DE-(El1-Eav);
> offdiag:=h-(E1-Eav)*S;

1
diagl := —3 DE — E1 + FEav

1
diag2 = 3 DE — E1 + FEav
offdiag := h — (F1 — Eav) S
> haml:=<<diagl,offdiag>|<offdiag,diag2>>;

1
—§DE—E1 + Eav h—(F1— Eaw)S
haml := !
h—(E1 — Eav) S 5DE—E1—|—Ecw

> soll:=Determinant (haml) ;

1
soll = —ZDE2 +E1? —2E1 Eav+ Eav®> —h2+2hSE1 —2h S Eav — S?2 E1?

+2S2FE1 Eav — S? Eav®
> solve(soll=0,E1);

1—8Eav+852Eav+8hS+4\/DE2+4h2—S2DE2

2 44482 ’
1 8 FEav+8S2FEav +8hS — 4/ DE*> + 4h2 — S2 DE?
2 —4 4462

> Ebond:=%[1];
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Ebond := -
on 5

>

1 —8Eav +8S2FEav+8hS +4\/DE?+4h2 — S2 DE?

—4+452
series(Ebond,S,?2);

(Bav — % VDEZ +412) — h S + O(S?)
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26 JUOUOUoobbooooo

gooobobooooobooooooooboooooobooooooboooon
gobooobooooboboooboooobooboobooobooooboooooon
gooooooobooon 1977 O

Sy X

0 2.1:

> with(LinearAlgebra):
> RZ1:=Matrix (3,3, [[cos(alpha),sin(alpha),0], [-sin(alpha),cos(alpha),0]
> ,[0,0,111);
cos(e) sin(a) 0
RZ1 := | —sin(a) cos(a) 0
0 0 1
> RY:=Matrix (3,3, [[cos(beta),0,-sin(beta)], [0,1,0], [sin(beta),0,cos(bet
> a)ll);
cos(B) 0 —sin(B)
RY = 0 1 0
sin(8) 0 cos(B)
> RZ2:=Matrix (3,3, [[cos(gamma) ,sin(gamma),0], [-sin(gamma) , cos(gamma) ,0]
> ,[0,0,111);

cos(y) sin(y) O
RZ2 := | —sin(y) cos(y) O
0 0 1

> Trans1:=RZ2.RY.RZ1;

Transl =

[cos(a) cos(3) cos(7y) — sin(a) sin(7), sin(«) cos(B) cos(y) + cos(a) sin(7y) ,
—sin(8) cos(y)]

[—cos(a) cos(B) sin(7y) — sin(a) cos(y) , —sin(a) cos(B) sin(7y) + cos(a) cos(7y) ,
sin(6) sin(7)]

[cos(a) sin(B) , sin(a) sin(B) , cos(B)]
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27 Udoboboodogubooouobboood

0.2 04 X 0.6 0.8

0/
—2000 -
—4000 -

—$000 -

~B000 - —

gbob2000 130K 000000000000000000DO0000OO
gobooOoooobooooooobooobooooobobooooobooboboOoooo
gbobodz20000000000D0O000DOO00DO0O0O0OOO000O0O0
gboobooobooboboooooobooobooooboOobobonon 1991 O

oo

ggbogobooboobooboobobbobboobooboab
ggboooobooaobooobooboboaoboaoboooboooaboo
gbooooooo

gboooobooboooooobo

1. boboobooboobobobooboooaboaboo
2. 00000000b0O0O0bOO0bOoOoOOobOOooObOonog

. 000bo0bobooooboooooboboooobooon
4. 000000000000 O0O0O0OO0ODOOOODbOn

5. buubaobbaoboboobuoobuoobgad

gboboboooobooboboboboboooooooboooboooboon

0d0o0o00o0oooOoo0o0oooobooboobooboooooooo
>  Gs:=(xb,temp)->(1-xb)*muas+xb*mubs+dGms (xb, temp) ;
Gl:=(xb,temp)->(1-xb) *mual+xb*mubl+dGml (xb, temp) ;
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Gs := (b, temp) — (1 — zb) muas + b mubs + dGms(zb, temp)

Gl := (zb, temp) — (1 — zb) mual + b mubl + dGml(zb, temp)
0000000 dGms,dGml 000000000 OOOODOODOOOO
0000000000000 00000000000000 (omega) O

oooo
> dGms:=(xb, temp) ->0Omegas* (1-xb) *xb+RR*temp* (xb*1n (xb) +(1-xb) *1n(1-xb))

dGml:=(xb, temp) ->Omegal* (1-xb) *xb+RR*temp* (xb*1n(xb) +(1-xb) *1n(1-xb)) ;

dGms = (zb, temp) — Omegas (1 — zb) zb + RR temp (xbIn(zd) + (1 — 2b) In(1 — zb))
dGml := (zb, temp) — Omegal (1 — xb) xb + RR temp (xbIn(zb) + (1 — zb) In(1 — 2b))

gboboooboboboboboboboobobooooboobooobo

goo
> RR:=8.314:
Omegas:=16.7*1000: muas:=0: mubs:=0:
Omegal:=0:
dHa:=8.37%1000: dHb:=12.55%1000:
dSa:=dHa/1000: dSb:=dHb/1500:

mual 0 mubl 000000000000 OO0O0O0DOOOOODOO

gboboobooboooobooooon
> mual:=temp->dHa-temp*dSa;

mubl:=temp->dHb-temp*dSb;
mual := temp — dHa — temp dSa
mubl := temp — dHb — temp dSb
ggbobobooobuoobboobuoobboobuod medbboo b
ggodobobboboooooobobobbooogo
>  Gl:=(xb,temp)->(1-xb)*mual (temp) +xb*mubl (temp)+dGml (xb, temp) ;
Gl := (b, temp) — (1 — zb) mual(temp) + zb mubl(temp) + dGml(zb, temp)
go0000oOoooOoooooOoOoOo0oOoooOoDoOoOoOooOoDOoOoLo

gboooooboboooboobooo
>  templ:=1300;

plot ({G1(x,templ),Gs(x,templ) },x=0..1);
templ := 1300
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] 0.2 04 X 0.6 0.8 &
0 /

—2000 -
—$000 1 \

—$000 -

—8000 -~

>  templ:=800;
plot ({G1l(x,templ) ,Gs(x,templ)} ,x=0..1);

templ := 800

5000 *
000 *
3000 *
P000 *

1000%

0/ 02 04 x 06 08 A
—1000 -

gddoudoobobodbouoobuoooobuooobuoooobooa
Jddddoooopooo dfd0o0pDooo0ooodooooooa
> diff(Gl(y,temp),y);
4180.00 + .003333333 temp + 8.314 temp (In(y) — In(1 — y))

oooooon
> Fl:=(x,y,temp)->subs(xl=x,yl=y,diff (Gs(x1l,temp),x1)-diff (G1l(yl,temp),
y1));

F1:=(z, y, temp) — subs(zl =z, yl =y, (% Gs(z1, temp)) — (% Gl(y1, temp)))
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goooood
> F2:=(x,y,temp)->subs(xl=x,yl=y,Gs(x1,temp)-diff (Gs(x1l,temp) ,x1)*x1-(G
1(y1,temp)-diff (Gl(yl,temp) ,yl)*yl));

F2 .= (z,y, temp) — subs(zl =z, yl =y,
Gs(z1, temp) — (% Gs(z1, temp)) 1 — Gl(y1, temp) + (52 Gl(y1, temp)) y1)

oyl
000 fsolve 00000000000 OD DOODOOODODOOOOOO
oooo
> fsolve({F1(x,y,1300)=0,F2(x,y,1300)=0} ,{x,y},{x=0.5..0.99,y=0.5.
.0.991);

{x = .9685370576, y = .8308884633}

goooooooboooooooooooooonog
> FindXY:=(temp)->fsolve({F1(x,y,temp)=0,F2(x,y,temp)=0},{x,y},{x=
0.5..0.99,y=0.5. .0.99});

FindXY = temp —
fsolve({F1(x, y, temp) =0, F2(x, y, temp) = 0}, {z, y}, {y = .5...99, x = .5...99})
> FindXY(1300);

{z = .9685370576, y = .8308884633}

gbobooboboobboobooboobn
> for temp from 1400 by -100 to 900

do

print (temp) ;
FindXY(temp) ;
od;

1400

{z =.9843946402, y = .9164387422}
1300

{x = .9685370576, y = .8308884633}
1200

{z = .9524858191, y = .7434269425}
1100

{z =.9363612791, y = .6542285850}
1000

{z =.9204118951, y = .5636183410}
900
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fsolve({—33400.0 4 12517.00000 + 7482.600 In(z) — 7482.600 In(1 — )

— 7482.600 In(y) + 7482.600 In(1 — y) = 0,16700.0 (1 — 2) 2 + 7482.600 z In(x)
+7482.600 (1 — z) In(1 — z)

— (—33400.0 2 + 16700.000 + 7482.600 In(z) — 7482.600 In(1 — z))

— 837.000000 — 4183.000000 y — 7482.600 y In(y) — 7482.600 (1 — y) In(1 — y)
+ (4183.00000 + 7482.600 In(y) — 7482.600 In(1 — y)) y = 0}, {x, y},

{y=5..99, z=.5.99})
0000000000000000 00000000000000000

gbgbogubgboobobobooboboobobooboobooao
gboooooobobooooboboooboboooooboboooon
goooO0O0OoooooOoOo0oOoO ACOODOOOOOOOOOODOOO
ggbgoboobooboobbooobobbooboobooboabo
ggbgooaobooaoboooboobobooboaobooboooaboo
gboooooobooooobooooboboooobooboooo
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28 00000DODOOOOODOOOOOODOO)

OO0O0O00O DATAI02 O0O0OOOCOO0OOODOOOOOOOODOO
goboobobooooboobbooobooboboooooooooooon
gobobOoobooobooboooooobooboooooboboooboooooon
gobooobooooooooboooooooboooooooooon

godoooooopooooUoDooooooooooo
restart;

T:=readdata(‘DATA102¢,1):

with(plots):

listplot(T);

vV V. V V

600
4005

200 ]
] 1000 000 00 4000

0°
—200 1

—400

—600

with(linalg):
n:=vectdim(T);
Rdata:=convert(T,array) :
Idata:=array(sparse,1..n);

vV V. V V

Warning, new definition for norm

Warning, new definition for trace
n := 4096
Idata := array(sparse, 1..4096, [])
> FFT(12,Rdata,Idata);

4096
> with(plots):
> datapoint:=[seq([i,sqrt(Rdatali] “2+Idatali]"2)],i=1..256)]:
> logplot(datapoint);
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1le+06 E

1e+05§

12000

10000 *

.'|(35*E

.1e4d S
0

100

150

200

250

> datapoint:=[seq([i,Idatal[i]/Rdatali]],i=2..1024)]:
> plot(datapoint);

8000 -
6000 -
4000 -

2000

2000 *

o

1 200

400

600

800

1000
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O 0A 0OJ0000Oood

gboobooboobooooboboooooboboooooobooogn
ooooooboobooobobonoo

? inifens- O00000000O0O0O0O0O0O

? index[package] - 000000000000000D0O0000000
(DETools), 0 000 (linalg)0000000000 (plots) 01000000

? index[function] - Maple 000000

Al 0J0O0O0OOOO
> 1+1;
> #(return) 000000 (shigt+return)

2
> plot(sin(x),x=-Pi..Pi):#0 000

> rplot:#0 0000
mass:=10;#0 0
> force:=—-mass*accel;

mass := 10
force := —10 accel
> mass:=’mass’;#00 00000
mass := mass

> restart;#000000O00O00OO0O
force:=-mass*accel;

> subs(mass=10,accel=14,force);#0 00000

\Y

force := —mass accel
—140
> evalf(log[2](5),20);#0 0000 (200)
2.3219280948873623479
> eql:=exp(-x)*cos(10%*x) ;
eql == e=®) cos(10 z)
> fl:=unapply(eql,x);#00000
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f1 =2 — =% cos(10 z)
> plot(£1(z),z=0..infinity);

ERERY Tz infinity

> with(plots):

> f2:=(x,t)->exp(-x)*cos(t*x);#0 0000

> animate(f2(z,t),z=0..infinity,t=-10..10);#0 0000000
ooo0o0Dooobooooooo

12 := (z,t) — (=) cos(t x)

z infinity

> egset:={x+y=1,y=x"2+1}:
> solset:=solve(egset,{x,y});#00000 (D OOUO fsolve)
> assign(solset[1]);#0000

solset :={y=1,2=0},{y=2, 2 =-1}



A20000000

> sum(i,i=1..10);#0
> add(i,i=1..10);#0000

95

55
> restart;

> limit(sin(x)/x,x=0);#0 0
1
> diff(x"2xy,x);#0 0

2zy
> eq:=diff (y(x),x)+y(x)=0;
> dsolve({eq,y(0)=a},y(x));#0 0000

eq:=(Zy(x) +y(x)=0
(o) = e
> int(x"2/sqrt(1-x72),x=0..Pi);#000O
1 1 1
—51\/—14—7{'27‘(4—§Iln(ﬂ'—\/—1+ﬂ'2)+ZT('

> series(sin(x),x=Pi/2,4);#00

1 1 1
1—§($—§7T)Q+O((Z‘—§7T)4)
> convert(%,polynom);#0 000000000000
1 1
1-— 5(55— 57’(')2

> listl:=[seq(i"2,i=1..4)1;#000
list1 :=[1, 4, 9, 16]
> nops(listl);
4
> list2:=[op(list1),17];#0000000O
list2 :=[1, 4, 9, 16, 17]

> map(sqrt,list2);#000000

1,2, 3,4, V17|

A2 O0O0O0OOOO
? inifens- O00000000O0O0O0O0O0O
? integer - OO0O0O
? polynom- O00000000O0O0O0O0OO
? ratpoly - O0O0O0O

? vector - OOQOQOOO
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gboobooood

?matrix - OOOO0OOOOO
? numtheory - OO0

? combinat - O0OO0O0O0O0O
? stats- OO0

? orthopoly - OO OOO

A3 0O0O0OO

e expand - Expand an Expression 0 0 0O 0O

o simplify - Apply Simplification Rules to an Expression 000 00O
goooooobooooooooD O Omm

e collect - Collect Coefficients of Like Powers OO0 0 0000 OO0O0OOO0O

e combine - combine terms into a single term 00000000000
ooooo

e coeff - extract a coefficient of a polynomial 0 000000000 O00O0O

e sort - sort a list of values or a polynomial 000000000

e factor - Factor a Multivariate Polynomial 00 0O 000000 O0O
oooooooo

e normal - normalize a rational expression 0 OO O 00O

e convert - convert an expression to a different form OO0 OO O00O0O
oood

e gcd - greatest common divisor of polynomials 000000000000

e lcm - least common multiple of polynomials 00000000000
e numer - numerator of an expression 0 0 00O
e denom - denominator of an expression 0 0 00O

e radsimp - simplification of an expression containing radicals 0 0 O O
ooo)

e assume - The Assume Facility 0000000000000
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A.4 0000 (linalg)

hnalgl:IDDDDDDDDDDDDDLmearAIgebraDDDDDDI]I]I:I

DOOOOOOoOO
matrix 0 vector 0O OO0

>

>

with(linalg):
ma:=matrix(2,2,[1,2,3,4]);

1 2
ma =
3 4

vec:=vector ([x,y]);

vec := [z, y]

0000000 Vector 000000000 (column vector) OO0 ODOOO
gboboobooboooboobobooooobooooboobooobobooo

matadd - matrix or vector additiond O O(matadd(A,B,c1,c2):c1*A+c2*B)

dotprod - vector dot (scalar)product 0O 00O

crossprod - vector cross product 0 0 00O

inverse - compute the inverse of a matrix 000 00O

det - determinant of a matrix J 0 00O

trace - the trace of a matrix 0 000 0O

adjoint - compute the adjoint of a matrix 0 00O 0O

transpose - compute the transpose of a matrix 0O 0 000
eigenvals - compute the eigenvalues of a matrix 0 00 0O O
eigenvects - find the eigenvectors of a matrix 00000000
angle - compute the angle between vectors 0 0 0O 0O

rowdim - determine the row dimension of a matrix 00 0 0 O
coldim - determine the column dimension of a matrix 00 00O

vectdim - determine the dimension of a vector 0 000 0000ODOO

00000 curldiverge,grad,jacobian 000000000000 O0OO00OO
pooooooooOooOoOOOOODODOOOOOOOO
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U OB 000000000

Unix00O00OO0O00D00O0O000D0O0 MapleOOOOODOOOOOOO
Maple 00 000000000000 LATeXO0OOOOOOOOOOOO
ggobgobgobobboobodag

B.1 0000000 (@QOO0DODOOOOOO0O)

unix 00000000000 Omaple -f action.txt j input.data joutput.data
0000000000000000000000000 version 0O OO0
0do0oooobooooooobooboooboobobooibOdd mint O
gooooooooog

00000 ‘DATAI01'00000O00CO0OODOut.data 000000
O000000editor 00 0000000000000 OOOOOO

[root@asura binl]# cat test.txt
T:=readdata(’/home/bob/DATA101’ ,float,1):
writedata(’/home/bob/out.data’,T);

quit:

gbboobooooobobooobobooboooobobooobOdl mint
gboboboboobobobooboooboooooooooobooooon
gooog

[root@asura bin]# mint<test.txt

N~/ Maple 6 Diagnostic Program
I\ [/1_. Copyright (c) 1981-1998 by Waterloo Maple Inc. All rights
\ MINT / reserved. Maple and Maple V are registered trademarks of
S o > Waterloo Maple Inc.

|
on line 1: T:=readdata(’/home/bob/DATA101’ ,float,1):
" syntax error

on line 2: writedata(’/home/bob/out.data’,T);

~ syntax error

mint 000 syntax error OO0 00OOOsyntax error 00000000
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gboooooao

gugobooooboobbooobboobbdterordbboogonon
gboboooogooboo

[root@asura bin]# maple < test2.txt
IN/1 Maple V Release 5 (Kyoto University)
I\ [/1_. Copyright (c) 1981-1997 by Waterloo Maple Inc. All rights
\ MAPLE / reserved. Maple and Maple V are registered trademarks of
S > Waterloo Maple Inc.
| Type 7 for help.
> T:=readdata(‘/home/bob/DATA101¢,float,1):
> writedata(‘/home/bob/out.data‘,T);
> quit:
bytes used=432084, alloc=393144, time=0.07

[root@asura bin]# wc /home/bob/out.data
256 256 3577 /home/bob/out.data

ggbooboboooooo

B.2 C,LATEXO0O0O0O

Maple 00000000000 0OFortrand C, LATp X OO OO0 for-

mat OO0 O000O00000O0O0O0O0OOOOOO0O0O0OobDbODbODOn

series(exp(-betax(-g*x~3)),x,5);

temp:=convert (%,polynom) ;

f1:=unapply(exp(-beta*xc*x~2)*temp,x) ;

eqnl:=simplify(limit (int(f1(x),x=-alpha..alpha),alpha=infinity));
1+ Bga®+0(x®)
temp == 1+ Bgaz>

fl =2 — e(=Bez?) (1+Bgz3)

vV V. V V

ot = 1y YETE0)

> with(codegen,C):
> C(f1(x),optimized);

t2 = x*x;
t4 = exp(-beta*c*t2);

t9

t4%(1.0+beta*gxt2+*x) ;
> latex(eqnl);
\1lim _{\alpha\rightarrow \infty }{\frac {\sqrt {\pi }{\it erf}(\sqrt {

\beta\,c}\alpha)}{\sqrt {\beta\,c}}}



0 0C plot0000

O00plotD0000D0DO0O0O0O0DOOOOO

e NUUDOOODLOODLOOODO

e JOODOOODOODO

o JOODODO

C.l O0OO0Oopobooobobgoo

>

>
>

restart;
with(plots):
with(plottools):

Warning, the name changecoords has been redefined

>
>
>
>
>
>
>

Potential function for the tunnel effect

V:=x->piecewise(x>=0 and x<=1,1);
pl:=plot(’V(x)’,x=-1..2,y=0..1.5,thickness=4):
display({p1},labels=[distance,energy],
labeldirections=[HORIZONTAL,VERTICAL],
labelfont=[TIMES,ROMAN,22],

title=‘Potential function for the tunnel effect®,
titlefont=[TIMES,ROMAN,22] ,tickmarks=[3,3]);

V =2 — piecewise(0 <z and z < 1, 1)

7
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plot 0 OO0

arrowl:=PLOT (arrow( [-1,0.8], [-0.2,0.8], 0.005,0.1,1/3,color=black)
)
arrow2:=PLOT (arrow( [-0.2,0.4], [-1,0.4], 0.005,0.1,1/3,color=black)
DE

arrow3:=PLOT (arrow( [1.2,0.6], [2,0.6], 0.005,0.1,1/3,color=black)
arrowx:=PLOT (arrow( [-1,0], [2,0], 0.0005,0.1,1/20, color=black)

arrowy:=PLOT (arrow( [0,0], [0,1.5], 0.001,0.1,1/10, color=black)

AA:=textplot([-0.6,0.9,"A"] ,font=[HELVETICA,OBLIQUE,22]):
BB:=textplot([-0.6,0.5,"B"],font=[HELVETICA,OBLIQUE,22]) :
CC:=textplot([1.6,0.7,"C"],font=[HELVETICA,OBLIQUE,22]):
VO:=textplot([-0.25,1.0,"V0"],font=[HELVETICA,OBLIQUE,22]):
zero:=textplot([0,-0.1,"0"],font=[HELVETICA,OBLIQUE,22]):
aa:=textplot([1,-0.1,"a"],font=[HELVETICA,OBLIQUE,22]):
display({pl,arrowl,arrow2,arrow3,AA,BB,CC,VO,zero,aa,arrowx,arrowy },
axes=NONE,view=[-1..2,-0.1..1.5],title=‘Potential function
for the

> tunnel effect®,

> titlefont=[TIMES,ROMAN,22]);

VVV VYV VVVSYVSYV STV VYV

7

Potential function for the tunnel effect
A

Y

- -

C2 0O0OO0OO0OOOOOO
> restart;
> #L:=readdata("E-TS_laml12.txt",4):
> p2:=[seq([seq(L[i*6+j+1] [4],j=0..5)]1,i=0..6)];
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p2 := [[-6.548925792, —6.556969238, —6.569859881, —6.571725175, —6.552130841,
—6.507429625], [—6.549154934, —6.558561941, —6.576399575, —6.585797044,
—6.575353151, —6.539476937], [—6.549040863, —6.559647139, —6.581471285,
—6.597624243, —6.595363553, —6.568589566], [—6.548432274, —6.559996663,
—6.585129484, —6.606877007, —6.612371244, —6.594356013], [—6.546440626,
—6.558680986, —6.585765397, —6.611685294, —6.623831734, —6.614838616], |
—6.541757939, —6.553566103, —6.581530372, —6.610083243, —6.628005998,
—6.628118908], [—6.532058732, —6.543141924, —6.570227975, —6.600338521
—6.623502987, —6.632769581]]

> with(plots):

> listplot3d(p2,axes=boxed,orientation=[-126,44]);

—16.52
—16.56
—6.6

> listcontplot3d(p2,levels=12,axes=boxed,orientation=[-126,44],filled=t
>  rue);
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plot 0 OO0

6.52
6.56
—6.6

listcontplot (p2,levels=12,filled=true);

12
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C3 0OO0ooon

>

vV V.V V V V V V V V V V V.V YV

07 5]7 [5’ 5’ 0]7 [57 0, 5]’ [07 5’ _]]

vV V.V V V V V V

unit:=[[0,0,0] ) [1/2,1/2’01 s [1/2,031/2] s [0:1/2’1/2]]y
with(linalg) :n:=1;

period:=[seq(seq(seq([i,j,k],i=-n..n),j=-n..n),k=-n..n)]:

period_n:=nops(period) ;

L1:=[seq(seq(matadd(unit[i],period[j],1,1),i=1..4),j=1..period_n)]:

L_max:=nops(L1);
L2:=[[0,0,01];
for j from 1 to L_max do
poi:=L1[j]1-[0,0,0];
dist:=evalf (dotprod(poi,poi));
if (dist < 0.872) and (dist > 0.1) then
L2:=[op(L2) ,convert(L1[j],1list)];
fi;
od:
nops (L2) ;
L:=convert(L2,listlist);
11 1 1 11
unit := [[0, 0, 0], [5, ok 0], [5, 0, 5], [0, 2 5]]
n:=1

period_n := 27

L_mazx := 108

L2 =10, 0, 0]]
13

-1 —1] [—1 —1] [1 -1 1 -1, -1 -1
2 ) 2 ) 2 3 ) 2 ? 2)

0, —
1. 11 1 1 11

[\

with(plottools):

for i from 1 to 12 do

clli := sphere(L[i+1], .1,color=red):

od:

c0 := sphere([0,0,0], .1,color=blue):
display([cO,cl,c2,c3,c4,c5,c6,c7,c8,c9,c10,c1l,c12],
scaling=constrained, style=patchnogrid,
axes=boxed,orientation=[-126,44]) ;



88

plot 0 OO0

|
0000 ooo
codRNMoMI®

D1:=polyhedraplot(L,polyscale=.1,polytype=icosahedron,color=red):
D2:=polyhedraplot ([[0,0,0]],polyscale=.1,polytype=icosahedron,color=bl
ue):

display (D1,D2,axes=normal, scaling=constrained,
style=patch,shading=NONE,orientation=[-126,44] ,labels=[x,y,z]);

vV V. V V V

> ?vrml;
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0 OD Maple6UUOO0OON
HEN

Maple OO0 VOO 60000000000 (200000)0000000
gbbooooboooboobooooboobooooobobooooobon

e JO00OD0OODOOOOOOOOO
e LinearAlgebra
e module(0)

e 0000D0O00ODO (O)

D1 O0000O0OD0DbDbOOOODOOO
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